
Name _____________ Roll No. ________
(Class-VI)

Worksheet - 9

Class VI

Chapter - 8 (Decimals)
1. Fill in the blanks.

i) Write 2.08 in the place value table _____  _____  _____

ii) Write 2.5 as fraction iin lowest term ______  _____

iii) Show 1.2 on number line.

iv) 3755 gm = ______ kg.

v) 152 mm = ________ cm.

vi) 13.9 lies between _____ & _____ and nearest to ______ on number line.

2. Match the following :-

i) Three ten and eight tenth a) 320.09

ii) Thirty six and seven hundredth b) 30.8

iii) 300+20 + 9
100 c) 36.07

3. MCQ

i) 2 - 0.7 is equal to

a)  0.5                b)   1.3                   c)  1.9              d) 1.5

ii) Which is greater 2.1 or 2.155

a)  2.155                b)   both are equal       c)  2.1              d) can't compare

iii) 3.5 + 4.05 - 6.005 is equal to

a)  1.095                b)   1.600                    c)  1.950            d) 1.545

4. Solve

i) What is to be added to  82.5 to get 90.

ii) Find the sum of 280.68+28.5+38

iii) Which is lesser an why? 2.08 or 2.083

iv) Sita brought fruits weigh 20kg. Out of this 5 kg 500 gm are apples and 4 kg are oranges an rest
are banans. What is weight of banans?
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